1 2 3 4 | 5 6 | 7 | 8
Name: Left corner - Top.stl
4pcs M3x22mm screw Material: Petg/ABS/Nylon B LV m g n C u be
- ono
Name_: Bed frame cover - Rear left.stl Infill: 90%: by Ben Levi A
Material: PLA/Petg/ABS/Nylon
Infill: 25%+
Name: Left comer - cap.stl Rear Corners and Bed setup
Name: Z mount - Left block.stl :\:;ltlt-ar‘:re(l)ll;/lietg/ABS/Nylon Material Specs
Material: PLA/Petg/ABS/Nylon =0 -
Infill: 90%+
M5x10mm screw Name: Left corner - Block.stl
Material: Petg/ABS/Nylon
Name: Z rail stopper - Top Left.stl Infill: 90%+
Material: PLA/Petg/ABS/Nylon Name: Right corner - Top.stl B
Infill: 50%+ M3 ny|oc nut Material: Petg/ABS/Nonn
Name: Left motor 40mm fan mount.stl M3x35mm screw Infill: 90%+
Material: PLA/Petg/ABS/Nylon
Infill: 40%+
M3 0.7-~1mm washer
Name: Z mount - Left mgn mount.stl 623zz flanged ball bearing Name: Right corner - cap.stl —
Material: PLA/Petg/ABS/Nylon Name: Bed Holder - Rear left.stl M3 0.7-~1mm washer Material: PLA/Petg/ABS/Nylon
Infill: 90%+ Material: PLA/Petg/ABS/Nylon  623zz flanged ball bearing Infill: 40%+
Infill: 90%+ M3 0.7-~1mm washer
M5x10mm screw
Name: Right motor 40mm fan mount.stl c
Name: Bed frame cover - Front left.stl Material: PLA/Petg/ABS/Nylon
Material: PLA/Petg/ABS/Nylon Name: Bed Holder - Front left.stl Infill: 40%+
Infill: 25%+ Material: PLA/Petg/ABS/Nylon
Infill: 90%+ M5x10mm screw
B Name: Right corner - Block.stl N
Material: Petg/ABS/Nylon
Name: Z rail stopper - Bottom Left.stl Infill: 90%+
Material: PLA/Petg/ABS/Nylon
Infill: 50%+ Name: Bed Holder - Rear right.stl
Material: PLA/Petg/ABS/Nylon D
Infill: 90%+ N Right bott i
ame: Right corner - bottom aux.s
3pcs Mox10mm Material: Petg/ABS/Nylon
3x1r2]mm screw Infill: 90%+
washer
f’é’“‘\
_ Y Name: Bed frame cover - Rear right.stl o
I’:'/Izrt*;‘:i'a';e;tef ;’Aoégrn{l“‘l’;'r?t'su _ Material: PLA/Petg/ABS/Nylon
Infill: 90(;/ . 9 y Name: Bed Holder - Front right.stl A M5x85mm screw Infill: 25%+
il 90 7o Material: PLA/Petg/ABS/Nylon y x
Infill: 90%+ M3x8mri screw
. ; ; E
Name: Bed frame cover - Front right.stl Name: Z rail stopper - Top Right.stl
Material: PLA/Petg/ABS/Nylon 4pcs Nyloc nuts M?t?”at PLA/Petg/ABS/Nylon
Infill: 25%+ M5x1Qmim screw Infill: 50%+
Name: Z rail stopper - Bottom Right.stl
Name: Z mount - Right block.stl Material: PLA/Petg/ABS/Nylon —
Material: PLA/Petg/ABS/Nylon Infill: 50%+
Infill: 90%+
Name: Z mount - Right mgn mount.stl .
Material: PLA/Petg/ABS/Nonn Name.. nght Z motor mount.stl F
Infill: 90%+ Material: Petg/ABS/Nylon
Infill: 90%+
1 2 3 4 | 5 6 7 8



	Sheets and Views
	Sheet1


